DANCOVER®

Manual
for
Greenhouse Nursery
0,39x1,3x1,4m

31-05-2022



Greenhouse Assembly Instructions

[

Product Size(LxWxH): 130x39x140cm




PARTS LIST

01/10

PART # mm | Qty. PART # mm | Qty. PART # mm | Qty.
YD | ssrers| 2 S01  |M6*10| 53 LO7A | 372 2
(T 0=
Y2 | eare0 | 4 S02 |M5*10| 16 LO7B| 610 4
Y3 e MOl | M6 | 53 LOSA | 1390 | 1
@
ﬂ Y4 1356*331 | 1 MO02 M5 16 == | LO8B | 610 2
O YS | amore2 | 2 Y | Z01 |@4*16| 2 L08C | 372 1
P01 5 ¥ | 202 |@4x12] 4 —~ [ L09 | 370 | 4
S | wol 1 ce | L10 | 1284 | 8
— | W02 2
2 W03 4
POLYCARBONATE PANEL \\\\ ////
NS
Transparent film /) W\
- I
PC
sheet
Opal white film )
Two sides of PC sheet are covered with thin film, one side's film is
transparent, another side's film is opal white. The UV-protected side of PC
sheet is covered with transparent film and must face towards the sun.

PART # mm | Qty.
ﬁ LOIA | 1390 | 1
LOIB | 1390 | 1
Pz 1360 | 2
LO3A | 1285 | 3
1
LO3B | 1285 | 1
LO4A | 1300 | 1
SC_ | L04B| 1359 | 1
L04C | 1359 | 1
S| Los | 1285 | 1
LO6A | 370 2
LO6B | 371 2
[ | LO6C| 1300 | 1
LO6D | 1339 | 2
LOGE | 1285 | 1




Window Assembly

02/10

PART # | mm  Qty.
SC_ | LO4A | 1300 | 1
C_ | Lo6C | 1300 | 1
= | LOTA 372 | 2
== | LO8C| 372 | 1
g | SOl |M6*10 6
MOl | M6 | 6
1 Ys 370%622 1




Door Assembly

03/10

Qty.

12

MO1

M6

12

Y2

642%610




LO1B(L02)
Attention!
Ensure the slopping angle of this
part is at the top and slopping down /
towards the front of the greenhouse.
LO3A(B)

04/10

LO1A/B(L02)

Note:

The L09 and LO3 components can be

installed at varying heights depending

on your requirements.
Please install each level of shelving
so that it is level, it can help to
measure and mark the profiles before
installing the LO9 and L03's.

PART # mm | Qty.
ﬂ LOIA | 1390 | 1

LOIB| 1390 | 1
% L02 | 1360 @ 2

LO3A | 1285 @ 2
_J

LO3B | 1285 | 1

LO6A | 370 2
C_

LO6E | 1285 @ 1
=ﬂ L09 | 370 4
Gm | SOl 'M6*10| 20
@& MOl | M6 | 20




05/10










08/10

MO1

M6




mm | Qty.

PART| #

P | Z01 |@4*16 2

5 | 202 |oax12 4

— | W02

09/10




mm | Qty.

PART| #

S | wol

10/10




DANCOVER®

Contact information

Austria

Poland

Belgium

Ireland

Croatia

-#F-E-

Portugal

S

=

Spain

.
- ':_1-?1- y

M.

Denmark

Estonia

=] Fr[E]
=

[l e =

SR
R
OO

Switzerland

-

|"|!""-al' a5
-:I:F'L'*-:.. T

Finland

France

o7

-

Norway

F =l .
L | 02t

For more information please visit: www.dancovershop.com




